Puzzle 1 (Medium, difficulty rating 0.46)

%

+/\

290327[E] %

) P
o[—|m|w|o|afol<|—]| _|o|~|wlo|—[ol<[=|m]  LYe[m|<]w|c|o]ol—|o]  Blm|o|wo|n|of——[<|w©w
S (=} o
of—[<|m|o|—=|o|n|wv]  slo|—[F]—|o|m]o|n|w] HAo|o|c]ol—|~]s(m(w] Ho|o|w|~|o| st —[o|m
o % %
w|a|o|o|<t[—|—[m|o] S|~[m|o|n|w|t|o|—|o] Slo|—|wvls|o|o]ol—|] S| |w|o|m]o]|o|o]
g 2 2
~[o|wln|—(ofstfo|o]  Slo|st oo —|o|ofwo] o= oo st|w|o|o]  Flwo[<| ol |m|v|o|w|—
3 E £
q|oo|w|o|m(—ir  Flojolmld|N|——io|st]  Blojafol—|w oo —| B0 wfm]oo|—|Ofa—| <t
5 £ £
—|o|o|—[ofslow|a]  |w|ofs|o|ol—[m[a)  S|o[s|o]o|—|of|cfm] S| | o< w]m| o]

o ©
[2]
© (3} ]
m|o|aul—|ojolwo|—|<|  wlw|ofa]—lolo|o|st~] Sl (o|—m| < w]ajojo]  Slo(o| s cfo]w|—| o
N ™ <
o|w|—||~|m|nfo]|o] ol || —|m|—[w]ov|o|o]  o]N[w|o|~[o|—m|o(s]  o]<|o|o|m|w]~|o||—
E E E
<{@|~o|afwl—(o|m] - Slof—|ojo|stajolo| =] Fls(©o|mlo|ofaf~(w]—]  Slofa| o] ol (Mo




